program mechprothese

'VARIABLE DECLARATION

dim Spier1 as word

dim Spier2 as word

dim Spier3 as word

dim Manual as word

dim Manualdisplay as word

dim Fr as word

dim SP1 as string[6]

dim SP2 as string[6]

dim SP3 as string[6]

dim Frequentie as string[6]

dim V as word

dim A as word

dim T as word

dim periode as word

dim Stifness as string[6]

dim Count as word

dim B as boolean

dim DemoKnop as boolean

dim ManKnop as boolean

dim NopKnop as boolean

'SUBPROCEDURES

sub procedure ReadValues

       Manual =  (ADC_read(4))/41  * 10 'read the level of the manual switch

       Manualdisplay = (Manual)*10/24

       WordToStr(Manualdisplay,Stifness)

       Spier1 = (ADC_read(0)-80)*5' 0     'read pressure in Spier1 and conversion to: min 0 mbar (steps of 100mbar) max 3000mbar

       WordToStr(Spier1,SP1)  ' convert word to string for display on LCD

        'WordToStr(Count,Teller) 'Needed

       Spier2 = (ADC_read(1)-80)*5'/ 34 *100     'read pressure in Spier2 and conversion to: min 0 mbar (steps of 100mbar) max 3000mbar

       WordToStr(Spier2,SP2)  ' convert word to string for display on LCD

       Spier3 = (ADC_read(2)-80)*5'/ 34 * 100    'read pressure in Spier3 and conversion to: min 0 mbar (steps of 100mbar) max 3000mbar

       WordToStr(Spier3,SP3)  ' convert word to string for display on LCD

       Fr = ADC_read(3) '/ 50    'Read frequentie

       WordToStr(Fr,Frequentie)

end sub

sub procedure Display           'write to LCD

        Lcd8_out(1,8,SP1)         'value of Spier1

        Lcd8_out(2,8,SP2)         'value of Spier2

        Lcd8_out(3,4,SP3)         'value of Spier3

        'Lcd8_out(4,-1,angle)      'value of Hoek

        Delay_ms(100)

end sub

sub procedure welcome           'write welcome text to LCD

              Lcd8_out(1,1,"*** welcome! ***")

              Lcd8_out(2,1,"  BEENPROTHESE  ")

              Lcd8_out(3,-3,"Arman & Max 2007")

              Lcd8_out(4,-3,"INITALIZING .")

              Delay_ms(1000)

              Lcd8_out(4,-3,"INITALIZING ..")

              Delay_ms(1000)

              Lcd8_out(4,-3,"INITALIZING ...")

              Delay_ms(1000)

              Lcd8_out(4,-3,"INITALIZING ....")

              Delay_ms(1000)

end sub

' START OF THE PROGRAM

'_________________________________________________________________

'_________________________________________________________________

main:

  ADCON1 = %10000010  ' configure analog inputs and Vref

  TRISA  = %00101111  ' designate PORTA as input (Bit 0-3 :Spier1,2,3,Stifness, Bit 5: Manual) !!!en toch ADC_read(4)!!!

  TRISB  = %00000000  ' Port B as output  (Display DB0-DB7)

  TRISC  = %00011001  ' 7 => 0 (E,RW,RS,switch2,switch1,  Spier2+spier3,Spier1,switch0)

                           '    
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  Lcd8_Init(PORTB,7,6,5,4,3,2,1,0,PORTC,5,6,7)'initialising Display (standard procedure)   (DB7,...,DB0,RS,R/W,E)

  Lcd8_Cmd(LCD_CLEAR)     'clear screen

  Delay_ms(1000)            '1sec delay

   welcome

   Delay_ms(1000)            '1sec delay

    Lcd8_out(1,1,"Spier1:       mb")                     'standard procedure to write to LCD

    Lcd8_out(2,1,"Spier2:       mb")

    Lcd8_out(3,-3,"Spier3:       mb")                   'to syncronise positions you have to scoop 5 places on line 3 and 4

   'PREDEFINED VARIABLES

   '---------------------

    Count = 0

    V=0

    A=0

    DemoKnop=0

    ManKnop=0

    NopKnop=0

   'INITIALIZING PWM

   '----------------------

    PWM1_init(8000) ' For Spier2 en 3 portC.2

    PWM1_start

    PWM2_init(8000) ' For Spier1 portC.1

    PWM2_start

    'START MAINLOOP

    '------------

Lus:

      ReadValues      'Spier1,2,3 and Stijfheid and frequentie are read and convert to the right values

      Display         'puts the values on the Display

 ' SWITCH STATUS CHECK

 '------------------------

      if PORTC.0 =1 then

           DemoKnop=1

           ManKnop=0

           NopKnop=0

           Lcd8_out(4,-3,"                ")

           Count = 0

           A=0

           V=0

           PWM1_change_duty(0)

           PWM2_change_duty(0)

      end if

      if PORTC.3=1 then

          DemoKnop=0

          ManKnop=1

          NopKnop=0

          Lcd8_out(4,-3,"                ")

          Count = 0

          A=0

          V=0

          PWM1_change_duty(0)

          PWM2_change_duty(0)

      end if

      if PORTC.4=1 then

          DemoKnop=0

          ManKnop=0

          NopKnop=1

      end if

      if  DemoKnop=1 then

          goto Demo

      end if

      if  ManKnop=1 then

          goto manual

      end if

      if  NopKnop=1 then

          goto NOP_lus

      end if

 NOP_lus:

 Lcd8_out(4,-3,"                ")

      Count = 0

      A=0

      V=0

      PWM1_change_duty(0)

      PWM2_change_duty(0)

goto Lus

Demo:

                Lcd8_out(4,7," Demo")

                if  Fr<300 then

                T=10

                periode=60

                Lcd8_out(4,-3,"Slow  ")

                end if

                if  Fr>=300 and (Fr<=400) then

                T=25

                periode=40

                Lcd8_out(4,-3,"Medium")

                end if

                if  Fr>400 then

                T=50

                periode=25

                Lcd8_out(4,-3,"Fast  ")

                end if

                Inc(Count)

             If Count < periode then

              if A<250 then

                   A=A+T

              end if

              PWM1_change_duty(0)

              PWM2_change_duty(A)

                B=1

               end if

              If Count > periode  then

              if A=250 and(B=1) then

                 A=0

                 B=0

              end if

              if A<250 then

                   A=A+T

              end if

              PWM1_change_duty(A)

              PWM2_change_duty(0)

               end if

             If Count > 2*periode then

              Count = 0

              A=0

               end if

goto Lus

 ''methode 2

          '   if A=0 and (V=0) then

'                A=255               ' spier 2 spier 3

'                V=0                 ' spier 1

'             end if

'

'

'                if (Hoek < Middle+20 ) and V=255 then

'                    A=0

'                    V=255

'                      PWM1_change_duty(A)

'                   PWM2_change_duty(V)

'                end if

'                if (Hoek  >= Middle+20) then

'                   A=0

'                   V=255

'                     PWM1_change_duty(A)

'                   PWM2_change_duty(V)

'                end if

'

'                if  (Hoek < Middle+20) and V=0 then

'                    A=255

'                    V=0

'                     PWM1_change_duty(A)

'                     PWM2_change_duty(V)

'                end if

'

'                if  (Hoek  <= Middle-20) then

'                      A=255

'                      V=0

'                        PWM1_change_duty(A)

'                         PWM2_change_duty(V)

'                end if

 ' goto Lus

Manual:

               Lcd8_out(4,7,"Manual")

               Lcd8_out(4,0,stifness)      'value of Hoek

               Lcd8_out(4,-3,"Stif:")

               Lcd8_out(4,5,"%")

              if A>(Manual) then

                     A=A-10

              end if

               if A<(Manual) then

                     A=A+ 10

               end if

               PWM2_change_duty(A)   'voorste spier

               PWM1_change_duty(A)

        '       if A<250 then

'                      A=50

'               end if

'

'               PWM1_change_duty(A)  'achterste spier

'               if Hoek < (Middle-10)  then

'

'                       j1=j1+50

'               end if

'               if Hoek < (Middle-5)   then

'                      j1=j1+5

'               end if

'

'               if Hoek >(Middle+20) then

'                      j1=j1-10

'               end if

goto Lus

end.

